Pipe Sizing Calculations
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Closed Drainage System

Project:

Location:

The Meadows of Acton

Acton, MA

Rational Method

Q = peak flow rate, (cfs)

C = runoff coefficient,
C = 0.90 impervious
C = 0.20 landscaped / grass

SM-4810

By BRE

Checked

i = rainfall intensity inches/hour

A = area (ac)

C=10.15 woods
CB-1
Surface A C Product
Cover (ac) AxC
impervious 0.10 0.90 0.090
lands/grass 0.01 0.20 0.002
woods 0.00 0.15 0.000
sum = 0.11 sum = 0.092
C=| 0.84 |= total product/ total area
CB-2
Surface A C Product
Cover (ac) AxC
Impervious 0.24 0.0 0.216
lands/grass 027 0.20 0.054
woods 0.00 0.15 0.000
sum = 0.51 sum = 0.270

C= = total product / total area

C=| 058

DMH-1
Surface A C Product
Cover (ac) AxC
CB-1 0.11 0.84 0.092
CB-2 0.51 0.53 0.270
0.000
sum = 0.62 sum = 0.362

= total product / total area
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Closed Drainage System

Project: The Meadows of Acton By

Location: Acton, MA Checked
Rational Method

Q = peak flow rate, (cfs)

C = runoff coefficient,

C = 0.90 impervious

C =0.20 landscaped / grass
C=0.15 woods

i = rainfall intensity inches/hour

A = area (ac)

SM-4810

BRE

CB-3
Surface A C Product
Cover (ac) AxC
impervious 0.18 0.90 0.162
lands/grass 0.08 0.20 0.016
woods 0.00 0.15 0.000
sum = 0.26 sum = 0.178
C= = total product / total area
CB-4
Surface A C Product
Cover (ac) AxC
impervious 0.29 0.90 0.261
lands/grass 0.03 0.20 0.006
woods 0.00 0.15 0.000
sum= 0.32 sum = 0.267
C= = total product / total area
DMH-2
Surface A L8 Product
Cover (ac) AxC
CB-3 0.26 0.68 0.178
CB-4 0.32 0.83 0.267
sum = 0.58 sum = 0.445

C=|_ 077 |-

total product / total area
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Closed Drainage System SM-4810 30f6

Project: The Meadows of Acton By BRE Date 3/16/12
Location: Acton, MA Checked Date
Rational Method
Q = peak flow rate, (cfs) 1 = rainfall intensity inches/hour
C =runoff coefficient, A = area (ac)

C = 0.90 impervious
C =0.20 landscaped / grass

C =0.15 woods
CB-5
Surface A & Product
Cover (ac) AxC
impervious 0.07 0.90 0.063
lands/grass 0.22 0.20 0.044
woods 0.00 0.15 0.000
sum = 0.29 sum=  0.107

C= = total product / total area

CB-6
Surface A C Product
Cover (ac) AxC
impervious 0.20 0.90 - 0.180
lands/grass 0.28 0.20 0.056
woods 0.00 0.15 0.000

sum = 0.48 sum = 0.236

C= = total product / total area



Closed Drainage System

Project: The Meadows of Acton
Location: Acton, MA
Rational Method

Q = peak flow rate, (cfs)

By

Checked

i = rainfall intensity inches/hour

SM-4810

BRE

C = runoff coefficient, A = area (ac)
C = 0.90 impervious
C = 0.20 landscaped / grass
C=0.15 woods
el
Surface A C Product
Cover (ac) AxC
impervious 0.10 0.90 0.090
lands/grass 0.31 0.20 0.062
woods G.00 G.15 0.000
sum = 0.41 sum = 0.152
C=| 0.37 |= total product/ total area
DMH-4
Surface A C Product
Cover (ac) AxC
CB-7 0.41 0.37 0.152
sum = 0.41 sum = 0.152
C= = total product/ total area
DMH-3
Surface A C Product
Cover (ac) AxC
CB-5 0.29 037 0.11
CB-6 0.48 0.49 0.24
DMH-4 0.41 0.37 0.15
sum = 1.18 sum=  0.495
C= 0.42 = total product/ total area
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Closed Drainage System

Project: The Meadows of Acton
Location: Acton, MA
Rational Method

Q = peak flow rate, (cfs)

SM-4810
By  BRE

Checked

i = rainfall intensity inches/hour

C = runoff coefficient, A = area (ac)
C = 0.90 impervious
C =0.20 landscaped / grass
C=0.15 woods
AD-1
Surface A C Product
Cover (ac) A C
impervious 0.02 0.90 0.018
lands/grass 0.01 0.20 0.002
sum = 0.03 sum = 0.020
C= = total product/ total area
AD-2
Surface A & Product
Cover’ (ac) AxC
impervious 0.03 0.90 0.027
lands/grass 0.06 0.20 0.012
AD-1 0.03 0.67 0.020
sum= (.12 sum = 0.059
== total product / total area
AD-3
Surface A C Product
Cover (ac) AxC
impervious 0.03 0.90 0.027
lands/grass 0.02 0.20 0.004
AD-2 0.12 0.49 0.059
sum = 0.17 sum = 0.090
C= = total product / total area
AD-5
Surface A C Product
Cover (ac) AxC
impervious 0.00 0.90 0.000
lands/grass 0.01 0.20 0.002
sam = 0.01 sum = 0.002

Cc= = total product/ total area
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Closed Drainage System SM-4810 6 of 6

Project: Great Road By BRE Date 3/16/12
Location: Acton, MA Checked Date
Rational Method
Q = peak flow rate, (cfs) i = rainfall intensity inches/hour
C = runoff coefficient, A = area (ac)

C = 0.90 impervious
C =0.20 landscaped / grass

C =0.15 woods
AD-4
Surface A & Product
Cover (ac) AxC
Impervious 0.02 .90 0.018
lands/grass 0.05 0.20 0.010
AD-3 0.17 053 0.090
AD-5 0.01 0.20 0.002
sum = 0.25 sum= 0,120

C= = total product / total area

DI-1
Surface A C Product
Cover {(ac) AxC
impervious 0.00 0.90 0.000
lands/grass 0.03 0.20 0.006
AD-4 0.25 0.48 0.120
sum = 0.28 sum=  0.126
C= = total product / total area
CB-8
Surface A C Product
Cover (ac) AxC
DI-1 0.28 0.45 0.126

sum = 0.28 sum = 0.126

C= = total product / total area



